E %*ﬂ'%i CHEBLA)

IR H s IR H rE
—REZWE 2,200 5KEEEZHE-BERE 4,400
—RSMTE (258 B LK) 1100|ERE2-EEE2ZRDADDIE 4,400
E:F 2,200 |EZHE (BROADIHE) 3,300
E=RE (238 B LARE) 1,100 (a2 kE (R ARA) 2,200
BE2WE - AIAE (EGRIR-EFRR) 3,300 |f84REEBAE 1,100
ERRERERHSOFRAE (BL) 5,500 |5 % 4 RIREES
AR HEOFRBEOEMH 5500|EFmFL(\A—)—VRHA) 1,000
RBEFHDNE (EREHA) 2,200| AEEFRIE 660
ZBEEHRDHE (BRIZHA) 3,300V FrREE 550
T BHE 2,200 | BEERREEFY 1,100
R EE (28 8 L) 1,100 | 2E@mIy—ERZHE 2,200
RTEZE (RIRS4A) 3,300 |t srERIGRZ IS 3,300
SERIREE 2,200 | R REHKEFLURELHE 4,400
FEAAREE (238 B L) 1,100(>77U7 F x5t 2,750

FRHEEHER s

1E5E rE iR rE
=ERS 3,300 |BEAF % (KA) 5,500
- 3,300|k#= 8,800
32 7,700{L>TFR 6,600
R 7, 700|422V TUH UNEEELEFET 3,400/ /1[E]) 3,900
WERLES 9,900 |5 R 2,750
FRBRE (Z2—E/N\VIR) KA 6,600 |HREBIHFL (LT )yoR) 2EHEE 1[8120,000
=ENPES 8,904 |HEan+IoFy 16,500

2024.10.011=5 (X122 &R



